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You will need:

· Some of your biodiesel and the oil you used

· An evaporating basin

· A piece of copper wire

· A piece of cotton to make a wick from

· A 100 cm3  measuring cylinder

· A balance able to read to 2 decimal places 

· This apparatus set up in a fume cupboard

What you do:

1. Make up wicks by rolling the cotton fabric, then wrap a length of copper wire around it to hold it together making a foot so that it can stand in an evaporating basin (See photos below)
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2. Now accurately measure out 100cm3 of cold water into the copper beaker

3. Place lid on and put it into the box unit making sure the thermometer bulb is submerged in the water in the copper can in the box unit.  It should look like this when it is set up for the experiment:

4. Take the temperature reading of the water.

5. Weigh your basin and wick. (take a note of the mass)

6. Add 3cm3 of your sample i.e. biodiesel/vegetable oil into the basin.  Dip the end of the wick in the liquid and sit it in the basin.

7. Take a note of the total mass of the basin, oil and wick.
8. Set the evaporating basin under the gauze of the box and light the wick.

9. Watch the temperature increase.  When it is 4°C above the starting temperature extinguish the flame by placing a heat mat over the basin. 

10. Keep watching the temperature rise and take a note of the temperature when it stops 

11. Weigh the evaporating basin again.  The difference in the mass is the amount of fuel used.

12. Remove the copper beaker, clean the soot off, and refill with water for next sample.

13. Repeat with another sample.  Repeat measurements could also be taken and averages calculated.

Mass change
	a) Mass of basin & wick
	……………………………

	b) Mass of basin, wick and oil before burning
	……………………………

	c) Mass of basin, wick and oil after burning
	……………………………

	d) Mass of fuel used (b – c)
	……………………………


Temperature change

	e) Temperature of water before heating
	……………………………

	f) Temperature of water after heating
	……………………………

	g) Rise in temperature (f – e)
	……………………………


Energy Calculation
	h) Temperature rise per g of fuel (g ÷ d)
	……………………………

	To heat 1 g of water by 1°C takes 4.186 j so to heat our 100g by 1°C will take 418.6j

	7) So the energy value of your fuel is (h x 418.6 j per g)

	……………………………





















































